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O

LASS: SUBJECT: ENGLISH
Name: Class/Section:
(Reading section)

<<

1. Read the passage and answer the questions that follow: (1x10=10)

It was the day after Thanksgiving, and Bobby Bear was so excited. His Grandparents were visiting from
Florida. They took Bobby Bear Christmas shopping. They rode the subway from Bobby’s house into the city.
When they Got off the subway, Bobby could see people everywhere. The people were Carrying bags,
presents, and Christmas decorations.

Christmas is Bobby Bear’s favorite time of year, because he loves the holiday Decorations. Bobby Bear’s
grandparents took him to three stores. He bought his mother a new robe, his father a new shirt, and his baby
sister a new teddy bear.

Next, Bobby Bear’s grandparents took him to eat pizza for lunch. Bobby ate pepperoni pizza. For dessert, he
had ice cream. After lunch, Bobby Bear and his grandparents went ice-skating. The ice-skating rink was
outside. Bobby had never been ice-skating before, and he really liked it.

Bobby slept during the subway ride home. When he got home, there were boxes of Christmas decorations
ready to unpack. His family decorated their house for Christmas that night. When they finished the
decorating, they built a fire in the fireplace and sang Christmas carols. It was a wonderful day.

1.This story takes place .
a. on a summer night in February b. on the day after Thanksgiving

c. on Christmas Day d. on Thanksgiving night
2. Who went shopping with Bobby Bear?

a. his mother b. his grandparents c. his baby sister d. his father
3. What did Bobby eat for lunch?

a. ice cream b. hot dogs C. pizza d. bothaandc
4. How did Bobby and his grandparents travel to the city?

a. the subway b. a taxi c.abus d. an airplane
5. Why did Bobby Bear’s grandparents take him to the city?

a. to go shopping b. to go ice-skating c. toeatlunch d. all of these
6. Bobby had never been :

a. ice-skating before b. to eat pizza before

c. shopping before d. to Florida before
7. What did Bobby Bear see when he got off the subway?

a. the stores b. people c.anice-skating rink  d. the pizza place
8. Who did Bobby Bear buy a robe for?

a. his teacher b. his sister c. his father d. his mother
9. Why do you think Bobby slept on the way home?

a. He was very hungry. b. He was tired. c. He was sick. d. He was happy.
10. What did Bobby Bear’s family do that night?

a. They went to the movies. b. They ate popcorn.

c. They decorated their house for Christmas. d. They ate their Thanksgiving meal.



Il. Read the following Poem: (1x10=10)
Every one that flatters you,
Is not a friend is misery.
Words are easy, like the wind,
Faithful friends are hard to find.
Everyone will be your friend.
When you have something to spent,
But if store of crowns be scant,
No one sell supply your want.

Q 1. Tick the correct answer:
a) Store of crowns is scant means
[.  When there is no or very little money
[I.  Amount of money in the score
[ll.  Storage of crown is less.
b) The moral of the poem is
[.  Faithful friend is like the wind
[I.  One who flatters is true friend
[ll.  Afriend in need is a friend indeed
Q2. Opposites
a) Friend ... C)
b) Easy d)

Q3. Rhyming words:
a) Scant C)
b) Weep d)

Q4. Find the word in the poem which means “Trustworthy”.

IS o e et e e

Q5. Find the word in the poem which means “Difficult times”.

IS o e et e e

Q6. Complete the sentence.
According to the Poet....
a) Atrue helps

He that is your friend indeed

He will help you in your need

In your sorrow he will weep.

If you ar awake he cannot sleep.
For every paint in your heart,

He with you will bear a part,
These are certain science to know,
Faithfull friend from flattering foe.

SOMOW ..o
Find e,



(GRAMMAR)

Rewrite as directed: (18)
1. The crow in search of water (was/were). It a pot of water (see/saw).
(Choose the right word and fill in the blanks)

2. Ravi went to the party with Ravi’s brother as Ravi’s friend has called both Ravi and Ravi’s brother.

(Rewrite using suitable pronouns instead of underlined words)
3. The sang beautifully. (group/choir)
The hunter shot at the of birds. (Flock/herd)

4. The small train went with maximum speed and appeared at the station.

5. Megha s quiet, while Nirav is talkative. But they both are good friends.
(Underline the describing words in the above sentence)

6. Raju Ravi ran fast, they missed the bus.

(Fill in the blanks with suitable joining words)

7. the, the, earth, round, goes.

(Arrange the words to make a meaningful sentence)

8. The boy was as as a tortoise.

Her frock is as white as
(Fill in the blanks with suitable similes)

9. (i) Rohit is than Mohan.(short)

(if) America is the country in the world. (rich)

(Fill in the blanks with the correct form of the word given)

10. the dog wags its tail when its pleased but a cat waves its tail when its angry

(Punctuate the sentence and write again)



(CREATIVE WRITING)
Q1. Few sentences got mixed up. Sort them out and write them in appropriate boxes in the correct order to
1. Make two meaningful stories. Give suitable title to the stories: (5x2=10)

The hare ran, but the tortoise crawled.

Moral: Slow and steady wins the race.

The grapes were quite high.

Seeing the tortoise far behind, the hare slept near a bush.

Once a fox was passing by a grape garden.

He saw bunches of juicy grapes hanging from the vines.

Once the hare and the tortoise wanted to have a race.

It tried hard to reach the grapes.

. He said to himself, “The grapes are sour”

10. The tortoise crawled continuously and reached the milestone first.

© o Nk wDdPE

Q2. Imagine a topsy-turvy scene and describe it in the space given. (5)




Q3. Write a notice about the drawing competition in your school. 5)

Q4. Write five sentences on how you can be a good friend to your classmates. (5)
Q5. Give the character sketch of Malu Bhalu. (5)
(Application)

Q1. Read the following passage and answer the questions that follow:

A king is called a Ningthou and a queen is called a Leima in Manipuri. Long, long ago in the land of Kangleipak
in Manipur, there lived a Ningthou and a Leima. They were loved dearly by the people. Even they never
stopped thinking about their meeyam, their people. The birds and animals too loved the Ningthou and
Leima.

Their beloved king and queen had three sons: Sanajaoba, Sanayaima and Sanatomba. Twelve years later,
they had a daughter named Sanatombi. She was a lovely child, soft and beautiful inside. The years went by,
and the children grew up well. Then came the time to decide the Thungi Ningthou, the future king. They
wanted to have a contest to select the future king



1. 1. Match the following: (3)

Ningthou future king

Leima king

Thungi Ningthou queen

Meeyam king’s daughter

Sanatombi king’s son

Sanayaima people

2. Write the words used to describe Sanatombi. (1)

and

3. The language spoken in Manipur is (1)

4. People of Kangleipak their king and queen. (loved/hated) (1)

5. Which word in the passage mean the opposite of: (1)
past x hard x

6. Which word in the passage mean: (1)

competition -

Il Answer the following questions: (1x3=3)
1. Why did the barber want a lot of food?

Y £ 1T

Y £ 1P

F Y £ 1T

[ll Punctuate the following sentence: (1)

i got ready had my breakfast wore my shoes and went to school



ULATY] ST heg 1 TaaTerd #4 , TATHTET

31T TdraT
HETT -5gaT ooy -y

AT quITeh80 -
1~ fareite ereg foray oid- T - e

=g AT 7T
2— fofer gear S - ATAT- AT

AR T x o T
3-ggaud for@l- S el -

fohdiTd gyr 00 T
4— FAT 3YdTe Qg forar

. £ 1 |
5— =1 fore it ohr Hard ar=m § 2

WRa T 1191 S
6— TE 2AC YA Wroll S8 - CHEH STPISTh Helthe
0371t & PRUT U5 & el [IR oo |
OFHT 37T HIRT HTH HL oA e |
7— AT FAT3I-
03elsTelel heldl
0YUER 3%
8- =Ta Tore arerdt o 2Meq; shH AgeTah] fordl-
0ciie; 3 fur & Aed &1 I |
0fFH & & J=d BId & 3T |
9— AT fore e & TRl 3 EAHTT -
0371 9Tl
031T@ Tl

10— AT aTerat &Y T e -

0T ST R-R TeT T&T AT AT

OH ol FHITST TS b IR H T A1 & &, AL

11- = forg araray & gdae o1 S F9 fora@y -
ogem T g3 & goT , Tl fordey a3 &1 )3mu(




12— hfadr g &- 2
OIE-H GARI ACT SA-AST YR, afHAT A

13-l e A el b g fo@- @ & q G ) 2
FARB TR ISh & | T AR 3 AT Ped o | AT PI AT DT A & AT 3
TATAT HTHA BT & |

14— 37T FIRY 1 Tareft AT g1 & IR FH 4 gty for@r ? 4

15— irar for o4t & 3o forar —

(e (31T AT Y USTT ST & FAIA o d1G G AT T3 2 2
LIS

(@) HAzl @ Gf3AT IeTaT ol U SIET o 3T el ATHY AT ATAT ? 2
LIS

)71 (Frerer amarer ffaR ol &t ST aredr 4t ? 2
LIS

Vg (T3 T&IAT H SARA deiad T d1¢ 3R 37ehTel 1 @1 ha UeT aidT & 2 2
LIS

)T (STATEX STl &l HFAIATY T FH HYIT AT BISAT UST ? 2
LIS

16— A for gt & G SR gt foral - 10
-13pIepT T AT o 3T ToIT &1 Afear gaTent @Y AT |

)EIE T BIGE X

-237A] FAIRY T AT AT ITef AL BIGT T D INAT |

YAdTe Fefel Y T AT HET Ielel & &1 FLhY

Iehelcil ST Tt T ATt FeTehT St &Y $1eTTS & forw




-3UE IS HT F W1 Heb SHh TT PlepT & 38 # four fer |
)BT Failer ReleTe PBTEN(

-431AT FIY BT YT AT & A W YA g i ag o |
LI ) 3UE RIRBIN
-5Ueh TITURT Heh o ISl h eXdR H 37 AR drerr - H e s ik arer & U3
SIMAT R | 39 Heeh A qr |
)RUST HTHYOT dgr  3fAETS BT JTHTA(
-6HR # ATIRR W ATTIAE |
)TSTEATT foer HERTE TR (
-70fRrams AR & forw #idr Mferat &1 Ade gaT e |
)3T T RESIRCIK D GIECH|
-85T3TeT o SATAGRT Y SWHTST 3 T&TT T &1 eI € |
=t 3RRER gford REIE) ¢Rrer gferd(
-95Tel | AT &Y LTI el & 38 STITG I ALl bl hed & |
)erreY T Sevard 3ga)
-10XTAGATY IR = 31T Toigaft &1 SATerar feed H T |
)HFOT NIRIGERG 3TGTele)
— 1791, Yg HY-
Al EIRY
— 1847 Y€ -
T fFaa Ue W |
T Weld TR |

19- A forw eree] ot 3ToTehet hA forE@d & —
Sl gl
a7 IR

— 20eiT=I Tor aredT &l Tl UgdTday fordl-
0 & ol PIeT 1T AT |

o A A 35 W ¥ |




-2131ufSe I Ugeht AT fore gt & e feran 10
AR FAR S &1 TET UaN & | I FRATAT T HAT P Tl & | T WAl Bl Jehdled Ug Tl arel

IS BT ITAT HISTT TATAT & | TS HIY BT AT & TUT ATGeT BT THT | MBI H Blel TS Bl GWHT TE YHeaTdl H

S1 35T & 3R AT o1l & | $8eh MY TGHAT &b TR ¥ FRATHT TW Tg o ol & | HD T & ot 38

UaTRIST g1l © | 38d W agd Yol A6l ald 3HToT VAT el STl & o dArd §H ST 3T ot 310 R 0¥

TSl § 9 I g @ ATIT §¢ Y &aT & | 9T 3Hh U & UWT I § | 0T & R W ot AR e & FooT

&b R WA AR APHe & | ¥R AIPR A AR &b T &1 feehe H ST fhar g |

1- AR ATt & el Hhd T § 2

ot}

2— AR ATKIAT Y d¢ P AT & ?

ot}

3— THART TET Ued AT & ?
o7

4 HAR ToheepT A & 2

ot}

5- Soc Jdare Qg for@l -

Qq Hell
— 22ufad T gea A for g4t & 3R for@- 10

I3 SaTS AT T TFAT of 33T | IS Sz ToRaT o 37T | efol &l o R & URY T ST A1 foha |
T gar$ I &) |9 ol thellehT U ofaTT f&T ATfeh a8 STl feet-gol o180 | T Sogiet favre & el — fae= g# 58
3¢ & Ul o T T H al-did IR U Y I STedt I & ST | a9 deh ag off Ueh ekl A GierdT of 3778
3R IR 1 gferar f&era gu atell — 38 U aferan e faere | fiax @l gferar agd ude § |
— 15Tl ST o TR T caTsAT T TIHET ofTet & ToIT T her ?

ot}

— 2%helol &l o TR &Y AT TelTe & ?

ot}

— 39 ST HERT F FIT AP 37TE ?

ot}

— 4N Y T AT IgA THG & ?
3

— 58T 37are Qree for@l-—

ol H vdlgl




ATOMIC ENERGY CENTRAL SCHOOL No.-4,RAWATBHATA
PRACTICE TEST FOR TERM-2(2017-18)
CLASS-V/ SUBJECT-MATHEMATICS M.M.-80

NAME- R.No.- M.O.-

Knowledge (20)

A. Fill in the gaps. (1 x10 =10)
a. Thereare __ edges in a dice.
b. The area of a wall of a room is expressed in
c. Thereare __ mm in half centimeter.
d. The perimeter becomes if we double the side of a square.
e. Punjab lies to the of Rajasthan.
f. The drawing of a floor map in 3 dimensions is called drawing.
g. The volume of a cube of side 1cm is cu.cm.
h. is written on the shiny security thread on a 100 rupee note.
i. 1 paisais part of a rupee.
J. There are mm in half centimeter.
B. Do as directed. (2x5=10)

1. Write the names of any two states that have sea on any one side.

2. Find the area of the following figures in square cm.Each is of 1 sq. cm.

/

A i

Area of A: Area of B:
3. Change the following into appropriate units.

a) 85km70m= km

b) 0.8cm = mm



4. How many ?cubes are needed to make this model

A.
7
5. The length of the stick is cm.
| ))
0000000000000 0 R0 0 80 R0 00 00 1 R 500 0 L TR0
o 1 2 3 4 S €& T 8 9 10 1 12 43 44 45 16 17 18 19 20 21 22 23 24 25
Centimeters
Understanding (20)

Q1. Fill in the gaps. 1 x 6 =6 marks

a. The fencing of a square garden is 32 cm. the side of the garden is

b. Vaishali jumped 4.08 m in a long jump competition. She jumped 4 m and cm.

c. If 50 kg potatoes becomes 1/10 of its weight after drying, then we get _ dried potato
from 2 Y% kg fresh potatoes.

d. If 14ml water is pushed up by 10 marbles. _ ml will be pushed by 25 marbles.

e. 965x0.06 x0.0=__

f. Rs.65.05+ 10 =

Q2. Do as directed. 2 x5 =10 marks

1) If 2 cm on a map = 1 km on ground, how many cm on the map will be equal to 9 km on the
ground?

2) Show the following hobbies of children in chapati chart.

Hobby No.of
children
Playing 24

Watching T V 10

Singing 6

Dancing 5

Reading 15




3) Draw a shape that can be folded into a square based pyramid.

4) Represent the shaded portion as decimal.

5) Make drawings to show how the given model will look from the top and front.

Top view Front View
7
1

Q3) Draw square of area 16 sq. cm . Write A on it. Draw another square with double the
side. Write B on it. (Ix4=4)

a) The side of square B is cm.

b) The area of square B is cm.

c) The side of square A is sg. cm.

d) The area of square B is times the area of square A.

Ability to compute (20)

Q1. Do as directed. (1 x6=6)

e) If 521 x 36 = 18756, then 52.1 x 0.36 =
f) The product of 2.5 x 100 =

g) The side of a square of area 36 sq. cm is

h) If 0.06 part of a square grid means parts out of 100.
i) By how much is 23°C greater than 16.4°C?
) 216 + =18
Q2. Do as directed. (2x5=10)

a. Divide and verify your answer.

1331+ 11



b. Rakesh purchased onions for Rs. 172.75, apples for Rs 210.25 and potatoes for Rs. 83.85.
How much money did Rakesh spend?

c. How many hours are there in 4380 minutes?

d. A bag contains marbles of same weight. A marble weighs 6 grams. How many marbles are
there in a bag of 3 kg 72 grams?

e. Find the volume of oil tin of length 45 cm, breadth 15cm and height 30 cm.

Q3. Make tally marks to represent the data given below. Answer the questions that follows:

(4x1=4)

The table given below shows the number of absentees in a school during a particular month in
different classes.

Class | 1 11 v
Number of absentees | 23 30 24 16
a class has the most number of absentees.
b. class has the least number of absentees.
C. is the total number of absentees.

d. is the difference of absentees of class | and class IV.



Problem Solving (20)

Q1 . Match the following. (1x 6=6 M)
a) The side of a square of area 121 sq cm i) 12 cm

b) 1 m 87 cm less than 2metres i) 10 m

¢) The side of a cube of volume 729 cm cubes ii) 80 cm

d) 2 times 6 cm iv) 13 cm

e) 1/100 of 1 km V) 9 cm

f) 800 mm vi) 11 cm

Q2. Do as directed. (2x5=10)

a. If a pencil costs Rs 5.50, find the cost of 34 dozen pencils.

b. The length of a rectangle is 15 cm and its perimeter is 44 cm. What is its width?

c. what will be the labour charge for whitewashing a wall 21 m long and 16 m wide at the rate of
Rs. 6.50 per sq m?



d. There are 28 lemons in 1 kg. How many lemons will be there in 15 kg? If 20 lemons can be

packed in one box, how many boxes are needed to pack all lemons?

e. A book has a length 15cm , breadth 13 cm and height of 1.5 cm . Find the volume of 10

Q 3. A wooden frame of area 64 sq cm comes in three possible sizes.

2cm

such books piled together.

32¢cm

Frame A

T 9

o

Which frame uses the greatest length of wood?

Which frame has equal sides

8cm

(1x 4 =4 m)

4cm

gcm Frame B

Frame C

Which frame has the least perimeter?

The frames A and C has

area.

16 cm



ATOMIC ENERGY CENTRAL SCHOOL#4, RAWATBHATA
ANNUAL EXAMINATION (2017-18)
PRACTICE PAPER

Subject — EVS Class — V Sec: Marks — 80
Name: Roll no: Time - 3 Hours
Q1 Fill in the blanks. (1X10=10)
o (Warm / Cool) air is heavy and comes down.
e Clobe is the model of the (sun / earth).
e Mizo people do their special (bihu / cheraw) dance in celebrations.
e Adalaj step well is about (18 / 28) km away from Ahmedabad.
e Gregor Mendel explained hereditary of characters using (rose / pea) plants.
o (Neil Armstrong / Rakesh Sharma) was the first man to walk on the
moon.
e Sunita spent (less / more) than 6 months in space.
. (Bachchu Khan / Noor Khan) was the coach of Afsana’s team.
e The walls of ‘Lekha’ are made with (bricks / stone).
e Players are recognised by their (approach / ability) rather than by their caste or
economic status.
Q2 Match the columns. (1X6=6)
e Donga drought.
e No rain Khedi village
e Jatrya a type of boat found in Srinagar.
e Manali to listen to the sound of a heartbeat
e Adivasis Himachal Pradesh
e stethoscope forest dwellers
Q3 Write true or false. (1X10=10)
e The agricultural practices have not changed over the years. ( )
e The new seeds are such that the crops can not affected by harmful insects.( )
e On 26" January, 2001 an earthquake occurred in the Kutch area of Gujarat.( )
e Changthang means a place where a few people live. ( )
e Shortage of water and food can result in flood. ( )
e Tractors are used to plough the fields nowadays instead of bullocks.( )
e We should switch off the engine when we stop our vehicles at a red light. ( )
o We get kerosene, diesel, petrol, engine oil, wax etc. from sky. ( )
o A big wall is built across the river is called a dam. ( )
o Cotton used to be spun on a charkha by the village people at home. ( )
Q4 Encircle the odd one- (1X4=4)
Kerosene refinery petrol diesel
Shikara donga house boat mehrab
Fire drought famine flood
Bajra corn mango wheat
Q5 Write the full forms: (1X4=4)
() LPG -
(i) CNG -
(iii) NGO -

(iv) NBA -




Q6 Identify the following pictures and write their names

(1x4=4)

1 ., E
y
[

= an:g -

el

Q7 Name the following- (1X5=5)

The vehicle that takes people to space
Many families in Srinagar live in these boats. These boats can be seen in Dal Lake and
Jhelum River. .

The doors and windows of old houses in Srinagar have beautiful arches.

A neigbhouring state of Mizoram.
Any one renewable sources of energy.

Q8 Give any two examples for each of the following. (1X12=12)

Two sports that are played as a team.

Two things beside oil, that are found deep inside the earth.

Two tribe of Jammu and Kashmir.

Two traits we acquire from our family.

Two musical instruments played by blowing air from the mouth.

Two things that we get from forests.




Q.9 Complete the sentences. (IX7=7)
e People stopped their vehicles at the petrol pump to

¢ In Jammu and Kashmir houses have slopping roofs to

e After India’s freedom the Consitution was prepared under the

e People of Sinduri village made fun of the Khedi people by calling them

e Unity and co-operation between the players is the

e Cutting of trees which decrese forest covered land is called

e Families like Dhanu’s work on the land of big farmer’s till

Q10 Give reasons for the following statements. (1X6=6)
e Sunita Williams not have to comb her hair in space

e CNG preferred as a fuel to petrol and diesel

e During winter, Tashi and his family live on the ground floor

e Jatrya and his family leave Sinduri and migrate to Mumbai

e Earthworm called a farmer’s friend

e Mami wish Dhanu should go to school for the whole year and study

Q11 Answer the following questions. (IX7=7)
e What is a shooting star?

e What is a refinery?




e What is a forest?

e List any two benefits of playing sports.

e What is ‘Torang?

¢ When and where Gregor Mendel was born?

e Who are identical twins?

Q12 Write a short note on “Right to Forest Act 2007.” (1X3=3)

Q13 Mark the following states on the map of India. (2)
. . INDIA

A
OUTLINE MAP (POLITICAL)

1. The state which is famous for
pashmina wool

2. The state which is famous for
Jhoom farming

3. The state where Suryamani

***** worked for adivasis

4. The state which is famous for
‘Undhiya’

Arabian
Sea

=== International Boundary
——————— State Boundary

b Map not to Scale
—_—
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